

Pay Estimate Created Date: June 2, 2023

Progr	Number	Contract ID	221021				See NTP Date	Ū	al Contract Amou	nt \$2,038,133.61	
1		Prime Contractor	LLC	Paving & Construction,		Pay Period End	June 1, 2023	Amou	hange Order Int nt Contract Amoui	\$0.00 nt \$2,038,133.61	
Approval Date										By User	
June 5, 2023			Gene	erated and A	oproved (and s	hould be considered	ed Draft) at the	e Proje	ct Office Level by	lundt	
June 5, 2023		F	Reviewed	l and Approv	ed (and should	d be considered Dr	aft) at the Res	sident E	Engineer Level by	gille	
June 6, 2023				R	eviewed and A	pproved at the Ce	ntral Office Co	ontroller	rs Office Level by	ramses	
Original Con	npletion Date	Current C	ompletio	on Date Actual Completion Date % of Current Contract A					nt Contract Amour	t Complete	
Decembe	er 1, 2023	Decen	nber 1, 2	2023 5.77%							
Cor	ntract Informatio	onal Dates					Milestones				
Date Description	Original Completion Da	Curren ate Completion		Date D	Description	Original Completion Date	Currer Completion		Days Remaining o Milestone	Charge	
Acceptance Date				Milestone - Calendar		August 17, 2023	August 17,	2023	•	Days	
Awarded Date	November 2,	November 2	2,	Time in JS	ip B						

Date		
Awarded Date	November 2, 2022	November 2, 2022
Letting Date	October 21, 2022	October 21, 2022
Notice to Proceed Date	January 3, 2023	January 3, 2023
Open to Traffic Date		
Work Began Date	May 30, 2023	May 30, 2023

Date	Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
	Milestone - Calendar Time in JSP B	August 17, 2023	August 17, 2023	72	
2022					
023					
3					

		This Estimate	Previous	To Date	
221021-A05					
	Total Posted Items Pay	\$117,500.39	\$0.00	\$117,500.39	
	Gross Item Adjustments	(\$1,384.00)	\$0.00	(\$1,384.00)	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$3,250.00	\$0.00	\$3,250.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			<mark>\$0.00</mark>	\$119,366.39	
Contract Total Paya	ble This Estimate:	\$119,366.39			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J1P3446	0070	6161005	CONSTRUCTION SIGNS	SQFT	\$5.630	1,149.5	\$6,471.69
	0080	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$39.410	6	\$236.46
	0090	6161025	CHANNELIZER (TRIM LINE)	EA	\$16.890	136	\$2,297.04
	0100	6161030	TYPE III MOVEABLE BARRICADE	EA	\$140.750	12	\$1,689.00
	0110	6161033	DIRECTIONAL INDICATOR BARRICADE	EA	\$56.300	38	\$2,139.40
	0120	6161040	FLASHING ARROW PANEL	EA	\$1,126.000	2	\$2,252.00
	0130	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$3,265.400	2	\$6,530.80
	0135	6169901	MISC.WORK ZONE LIGHTING	LS	\$7,000.000	1	\$7,000.00
	0140	6181000	MOBILIZATION	LS	\$90,000.000	0.25	\$22,500.00
	0210	8061019	SILT FENCE	LF	\$3.460	400	\$1,384.00
	0260	2169901	MISC.REMOVAL OF EXISTING SUPERSTRUCTURE	LS	\$130,000.000	0.5	\$65,000.00
Project J	1P3446 - ⁻	Total					\$117,500.39



Pay Estimate Created Date: June 2, 2023

	Progres		imate mber	Contract ID Prime Contractor	221021-A(Capital Pa LLC		Construction,	Pay Peri Start Pay Peri		See N ⁻ Date June 1		Original Con Net Change Amount Current Con	Orde	r \$	0.00	
Project Number								Unit Price		Current nstalled Qty	Current Installed Amount					
Overall -	Total														\$117,500.39	
Contract A	djustme	nts Th	nis Estii	<u>mate</u>												
Contract	Adjustme	nt ID	A	dj Type	Entered By	y	Comment	ts	Time	e Units		Rate		Amount		
		3956			I	undt1	Document Red be found on E-F			4	.33	\$75	50.00		\$3,250.00	
Overall -	Total	Th	ese am	ounts are listed	l in the Incen	tive, Dis	sincentive, Liqu	uidated Da	amages	or Oth	er Con	tract Adjustm	nents		\$3,250.00	
ine Item A	Adjustme	ents T	his Esti	mate												
Project Number	Line No.	I	tem De	scription	Adjustment Type	Other If Adjustm Type	nent				Adjustm Quant		Line Item Adjustmen Unit Price			
J1P3446	0210			SILT FENCE	Material	al -400 \$3.						\$3.46	6 (\$1,384.00)			
Total															(\$1,384.00)	



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Inform	ation
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J1P3446	FAF-13-4(36)	Bridge superstructure replacement	13	CALDWELL	over Rte. 36 near	r Hamilton	
Fotals by J	Job Numbers						
J1P3446	Posted Ite Gross Iter	n Adjustments	oss Item		This Estimate \$117,500.39 (\$1,384.00) \$116,116.39	Previous \$0.00 \$0.00 \$0.00	To Date \$117,500.39 (\$1,384.00) \$116,116.39
		ve d Damages itract Adjustmer	nts		\$0.00 \$0.00 \$3,250.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$3,250.00 \$0.00

Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J1P3446, Item 8061019, Project Item Line Number 0210, Material Set 806101996, Material 1011GXT2 - Geotextile Fabric for TempSiltFence (T2), Acceptance Action Generic 1011GXT2 is insufficient.	Waiting on Certification.	lundt1	Acknowledged

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Poster Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities	and Valu	es are b	ased on R	eport Generated date and can differ from the posted am	ount at the	time the	Estimate wa	s Gener	ated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221021-A05	J1P3446	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$5,000.00	\$0.00
		0001	0020	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	36.00	0.00	36.00	SQYD	0.00	\$36.00	\$0.00
		0001	0030	6081010	CONCRETE CURB RAMP	22.00	0.00	22.00	SQYD	0.00	\$165.00	\$0.00
		0001	0040	6081012	TRUNCATED DOMES	47.00	0.00	47.00	SQFT	0.00	\$17.00	\$0.00
		0001	0050	6086004	CONCRETE SIDEWALK, 4 IN.	14.00	0.00	14.00	SQYD	0.00	\$130.00	\$0.00
		0001	0060	6091010	CONCRETE CURB (6 IN. HEIGHT AND UNDER) TYPE S	52.00	0.00	52.00	LF	0.00	\$70.00	\$0.00
		0001	0070	6161005	CONSTRUCTION SIGNS	3,100.00	0.00	3,100.00	SQFT	1,149.50	\$5.63	\$6,471.68
		0001	0080	6161008	ADVANCED WARNING RAIL SYSTEM	6.00	0.00	6.00	EA	6.00	\$39.41	\$236.46
		0001	0090	6161025	CHANNELIZER (TRIM LINE)	136.00	0.00	136.00	EA	136.00	\$16.89	\$2,297.04
		0001	0100	6161030	TYPE III MOVEABLE BARRICADE	26.00	0.00	26.00	EA	12.00	\$140.75	\$1,689.00
		0001	0110	6161033	DIRECTIONAL INDICATOR BARRICADE	38.00	0.00	38.00	EA	38.00	\$56.30	\$2,139.40
		0001	0120	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$1,126.00	\$2,252.00
		0001	0130	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	6.00	0.00	6.00	EA	2.00	\$3,265.40	\$6,530.80
		0001	0135	6169901	MISC.WORK ZONE LIGHTING	1.00	0.00	1.00	LS	1.00	\$7,000.00	\$7,000.00
		0001	0140	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$90,000.00	\$22,500.00
		0001	0150	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	401.00	0.00	401.00	LF	0.00	\$3.38	\$0.00
		0001	0160	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	543.00	0.00	543.00	LF	0.00	\$2.42	\$0.00
		0001	0170	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	70.00	0.00	70.00	LF	0.00	\$2.42	\$0.00
		0001	0180	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$6,000.00	\$0.00
		0001	0190	8025006	MULCHING	0.10	0.00	0.10	ACRE	0.00	\$17,300.21	\$0.00
		0001	0200	8051000A	SEEDING - COOL SEASON GRASSES	0.10	0.00	0.10	ACRE	0.00	\$17,300.21	\$0.00
		0001	0210	8061019	SILT FENCE	522.00	0.00	522.00	LF	400.00	\$3.46	\$1,384.00
		0040	0230	9031010	CONCRETE FOOTINGS, EMBEDDED	0.80	0.00	0.80	CUYD	0.00	\$940.59	\$0.00
		0040	0240	9031220	PIPE POSTS	350.00	0.00	350.00	LB	0.00	\$15.05	\$0.00
		0040	0250	9035069A	SHF-FLAT SHEET FLUORESCENT	32.00	0.00	32.00	SQFT	0.00	\$27.47	\$0.00
		0070	0260	2169901	MISC.REMOVAL OF EXISTING SUPERSTRUCTURE	1.00	0.00	1.00	LS	1.00	\$130,000.00	\$130,000.00
		0070	0270	5039905	MISC.MODIFIED BRIDGE APPROACH SLAB	248.00	0.00	248.00	SQYD	0.00	\$300.00	\$0.00
		0070	0280	6079903	MISC.(48 in.) PEDESTRIAN FENCE (STRUCTURES)	219.00	0.00	219.00	LF	0.00	\$175.00	\$0.00
		0070	0290	7034212	SLAB ON STEEL	1,073.00	0.00	1,073.00	SQYD	0.00	\$370.00	\$0.00
		0070	0300	7034216	TYPE H BARRIER	543.00	0.00	543.00	LF	0.00	\$152.00	\$0.00
		0070	0310	7034430	SIDEWALK (BRIDGES)	1,718.00	0.00	1,718.00	SQFT	0.00	\$20.00	\$0.00
		0070	0320	7039907	MISC.BEAM SEAT ADJUSTMENT	11.20	0.00	11.20	CUYD	0.00	\$4,000.00	\$0.00
		0070	0330	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	0.00	\$17,059.80	\$0.00
		0070	0340	7121121	FABRICATED STRUCTURAL LOW ALLOY STEEL (PLATE GIRDER) A709, GRADE 50	224,450.00	0.00	224,450.00	LB	0.00	\$4.00	\$0.00
		0070	0350	7123610	SLAB DRAIN	18.00	0.00	18.00	EA	0.00	\$350.00	\$0.00
		0070	0360	7125365A	INTERMEDIATE FIELD COAT (SYSTEM G)	7,900.00	0.00	7,900.00	SQFT	0.00	\$9.66	\$0.00
		0070	0370	7125370A	FINISH FIELD COAT (SYSTEM G)	1,800.00	0.00	1,800.00	SQFT	0.00	\$0.45	\$0.00
		0070	0380	7161002	LAMINATED NEOPRENE BEARING PAD	10.00	0.00	10.00	EA	0.00	\$785.00	\$0.00
		0070	0390	7162000	LAMINATED NEOPRENE BEARING PAD ASSEMBLY	15.00	0.00	15.00	EA	0.00	\$3,250.00	\$0.00
004004 5					Date as of Report Generated Date							\$182,500.38
221021-A05 Ove	rali - Total	value Post	ted to Dat	te as of Repo	ort Generated Date							\$182,500.38



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J1P3446

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0070	6161005	CONSTRUCTION SIGNS	5/30/23	6/2/23	1,149.50	SQFT	RT. 36 for west and eastbound lane closures, and signs on 13 north and south.	29+56.37	33+60.54			All signs were installed to plan.
0080	6161008	ADVANCED WARNING RAIL SYSTEM	5/30/23	6/2/23	6.00	EA	Rt 36 eastbound and westbound attached to the roadwork ahead signs.	29+56.37		33+60.54		
0090	6161025	CHANNELIZER (TRIM LINE)	5/30/23	6/2/23	136.00	EA	Through out the project.	29+56.37		33+60.54		
0100	6161030	TYPE III MOVEABLE BARRICADE	5/30/23	6/2/23	12.00	EA	In the east bound lanes and westbound lanes, and at the north and south ends of the bridge.	29+56.37		33+60.54		
0110	6161033	DIRECTIONAL INDICATOR BARRICADE	5/30/23	6/2/23	38.00	EA	located at the beginning of both lane drop's.	29+56.37		33+60.54		
0120	6161040	FLASHING ARROW PANEL	5/30/23	6/2/23	2.00	EA	At the beginning of both lane drops.	29+56.37		33+60.54		
0130	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	5/30/23	6/2/23	2.00	EA	located at the west end of project and East end of project on RT. 36.	29+56.37		33+60.54		
0135	6169901	MISC.	5/30/23	6/2/23	1.00	LS	Placed on multiple areas around the project.	29+56.37		33+60.54		
0140	6181000	MOBILIZATION	5/30/23	6/2/23	0.25	LS	Payment of 25% of project for 5% of the work being completed.	29+56.37		33+60.54		
0210	8061019	SILT FENCE	5/30/23	6/2/23	400.00	LF	located at both ends of the bridge.	29+56.37		33+60.54		
0260	2169901	MISC. REMOVALS	5/30/23	6/2/23	0.50	LS	Bridge at rt. 13 and 36.	29+56.37		33+60.54		Partial payment was made due to Greg Bair not finishing the bridge demolition in the allotted 18 hours.

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Contract ID: 221021-A05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1P3446	0210	SILT FENCE	Material		1	Jun 5, 2023	SYSTEM	(\$1,384.00)	
				- Total				(\$1,384.00)	
			Material - To	otal				(\$1,384.00)	
	0210 -	Total						(\$1,384.00)	
J1P3446	3446 - Total							(\$1,384.00)	
Overall - Total							(\$1,384.00)		



Contract Adjustments for Contract - 221021-A05

Estimate Number	Project	Adjustment Type	Other Adjustment Type	Adjustment Amount	Adjustment Percentage by Project	Created Date	Created By	Comments
1	J1P3446	Liquidated Damage		\$3,250.00	100	Jun 5, 2023	lundt1	Document Record can be found on E- Projects.
1 - Total					\$3,250.00			
Overall - Total					\$3,250.00			